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B.A. 3rd Semester (Honours) Examination, 2019 (CBCS)
Subject : Philosophy
Paper : CC-VII
Time: 3 Hours Full Marks: 60

The figures in the right side margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

s 2IwE A YT
WWVWWWW%W/

1. Answer any ten of the following questions: 2x10=20
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(a) What is meant by jAana?
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(b) What is pratyaksaprama?
efepmeEl 7

(c) State the laksana of karya.
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(d) What is called nirvikalpaka pratyaksa?
ieae eors S 17

(e) What is parémars’a?
sl F1?

(f) What is sadr$yajiiana?
AR 2

(g) What is anyatha’siddba?
s fTE 2

(h) What is svarthanumana?
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(i) What is paksa?
AT e

(§) Identify the hetvabhasa of the following example:

Ao Trreell cerem e Fe ¢
“The hill has fire, because it has knowability’.
‘SiFfeld I, @EY TS AEAY WF |
(k) What is saddhetu?
T 2
(1) What is the samavayikarana of motion?
sifoq TRIRR 2
(m) What is vyapti?
ifes e
(n) What is prama?
o 2

(o) Give an example of kevalanvayi anumana.
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2. Answer any four of the following questions:
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(a) Show how anumiti is distinguished from sam$ayottara pratyaksa.
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(b) State and explain the laksana of karana.
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5%x4=20

(c) ‘Fire is not hot, because it is a substance’—Explain the related hetvabhasa following this

example.
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(d) Discuss after Annambhatta pardrthanumans.
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(e) Explain with example anuvyavasaya jiana.
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Explain kevalavyatireki linga with suitable example.
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3. Answer any two questions: 10x2=20
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(a)

(b)
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(d)

State the laksana of smrti given by Annarbhatta. Explain the significance of each of the
terms occurred in the laksana of smrti. 2+8=10
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Explain and illustrate samavayikarana and asamavayikarana. What are nimittakarana-s of
a cloth? 8+2=10
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Is sannikarsa karana or vyapara of perceptual cognition? Explain with suitable examples
of different types of laukika sannikarsa. 2+8=10
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Give a full account of three types of asiddha hetvabhasa. How do they act as impedement
of an anumiti? 8+2=10
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